
 
	
Lösung 
 
 
1. Symbole suchen 
	
Es sind insgesamt 12 Weitere Kombinationen.  
 

 
 
	
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Zusatzaufgabe: 
≤ = 12  > = 8  } = 11   V = 6  ^ = 6   
< = 48  -> = 8  <- = 12  ≥ = 7  { = 2  
 
 
 
 
2. Wörter rechnen 
 
R = 3 / A = 4 / E = 5 / B = 6  
 
 
Herbst: 5+3+6 = 14  Kü(UE)rbis: 5+3+6 = 14  Jacke: 4+5 = 9 
 

SCHWEIZERISCHE HIRNLIGA
LIGUE SUISSE POUR LE CERVEAU
LEGA SVIZZERA PER IL CERVELLO

≤ < }	 ≤ ->	 > ≥	 < ≤ <-	
>	 < < < <-	 ≥	 <-	 < < }	
< <-	 ≥	 < < }	 { ^ { < 

< < }	 ≤ >	 < V	 ≤ ≤ ->	
->	 V	 <-	 < < ->	 ≥	 >	 < < 

}	 < < V	 < < ≤ < < < 

<-	 }	 < < >	 ^	 ≤ < < }	
< ≥	 <-	 < }	 ≤ < <-	 ≤ ^ 

< < ≤ ->	 ->	 ^ < < ->	 <-	

< ≥	 <-	 < >	 V	 ^ }	 ≤ ^ 

< < <-	 < < ->	 < >	 < < 

>	 V	 <-	 }	 < V	 < < }	 ≥	



	 	  

Oktober: 6+5+3 = 14  Orange: 3+4+5 = 12 Kastanie: 4+4+5 = 13 
 
Jahreszeit: 4+3+5+5 = 17  Apfelsaft: 4+5+4 = 13 Nebel: 5+6+5 = 16 
 
Laub: 4+6 = 10    Eichel: 10  Rü(UE)ben: 3+5+6+5 = 19 
 
 
 
 
3. Rechengitter 
 

 
 
 
 
 
4. Wissens Sie’s?  
 
Lösung: Kalender  
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